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(a) € = cosf +isind (6 € R)

(b) (%)’ =e* (2€C)

(c)er =e*? &z =2 +2nmi (n€Z)
200000000

(a) (cosz) = —sinz

(b) (sinz)’ =cosz

(c) sin®z + cos? z = 1

(d) sin(z1 + 22) = sin 21 cos z3 + €os 21 sin 29
)

f) e* =cosz+isinz
.O0O0O0nOOoonog

(e) cos(z1 + z2) = cos z1 €OS 22 — sin z7 sin 2o
(

sin z

m
z—0 2z

lim zLog z
—n<arg z<mw, z—0

4. 000000000
(a) e* =i

(b) sinz =0

(c) cosz=1

5. 0dpnbobooga

le?| < el

6.0000000000
() {zeC | [e7*| <1}



(b){z€ C | 0<Re(z) <m, |cosz| <1}
7.0000000000000 y=y,2=2 0000 w=1000000000000000
8. 00 w=e¢" 00000000

9.00 w=1D00000000

1000 w=sinz0O0O0OOOODO

11.0000 f(z)=(v/3+i)z000000000000

12. 00
a b
—-b a
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13.0000000000000000000

(a)
(

f(2) =
b) f(z) =%

(c) () = #Re(2)

(@) f(z) = |2

14. 0000000 f(z)IZIIZIDEIDDDDDf’(z)DDDDDDDDDDD
(a) f(z) = 22

(b) f(2) = e*(cosy + isiny) (000 z=z+1y)
15,0000 f(2) =u(z,y)+iv(z,y) (¢z=z+4) 00000000000

0 0 0 0
PR = Go @ )5 () = 5o y) g (@)

16. 0000 f(2) =ulz,y) +iv(z,y) (000 z=2z+w) 0000

0 0 0 0
1) = G y) i (woy) = =i @y) + 5 ()
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(1) 0000000000000 0O000UOO0O0
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E (Tv 9) 89 (T 9) % (Ta 9) = _TE (Tv 9)

0000
(b)DODOO f(z) 0000 f(2) 00000000

cosf —isinf Ou

F1(2) = (cost — isinO) (o (r,0) +i5°(r, ) = (O (r,0) +1 92 . 0))

goog
18. 0000 f(,) 00 z2=2 0000000

ir

9(z) = f(®)

0000000000 ¢g(»,)00 2=z 000000000000
19.0000 f(2) =u(z,y)+iv(z,y) (000 z=z+4y) 00000000
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0% 0% 02%v 20
w(%y) + 8—:(]2(%3/) = w(%y) + 8—:(]2(18,3/) =0
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